ABSORPTION & METABOLISM:  CALORIE BURNING LAB

SCIENTIFIC NUTRITION

                                                                NAME: ________________________________




ASSIGNED TO GROUP:  ___________________________
Purpose of the Experiment:  To calculate the number of calories per gram of several food items.

Hypothsis: We hypothesize that there will be ____ calories in a nut, ____ calories in a Cheeto, and 

     ____calories in a marshmallow.
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Procedure:  



     1.  Set up your ‘calorimeter’ in a fashion like or similar to the 
           
    illustration on the left. 


2.  Weigh the 3 food items provided, in grams, prior to burning 
      
     them. Record the weights. 


3.  Measure 100 g. of water. (100 ml. = 100 g)  Record the 
     
     temperature of the water.


4.  Start one of the food items on fire.


5.  When the fire goes out, reweigh and record the weight of the 
     
     food item. Measure and record the temperature of the water.  
     
     Repeat for other two food items.
Observations of each food item during the experiment:  


The nut:  A. ___________________________________________________________________

 

     B. _________________________________________________________________ 


The Cheeto:  A. _______________________________________________________________ 



           B. ______________________________________________________________


The Marshmallow:  A.  __________________________________________________________




          B.  ________________________________________________________
Data: 
	FOOD ITEM
	MASS
	TEMPERATURE

	
	ORIGINAL
	FINAL
	CHANGE
	ORIGINAL
	FINAL
	CHANGE

	Nut                    
	
	
	
	
	
	

	Cheeto
	
	
	
	
	
	

	Marshmallow
	
	
	
	
	
	


Calculations:  One calorie is the amount of energy needed to raise the temperature of 1.0 gram of water 
         
         1.0° Celsius.    calories burned = temperature change x grams of water                


                                 calories per gram = calories ÷ change in mass                                                               


       converting calories to Calories (dietary calories) = calories burned ÷ 1,000
	Food Item
	calories burned
	calories per gram
	Convert calories to Calories

	Nut
	
	
	

	Cheeto
	
	
	

	Marshmallow
	
	
	


Conclusion:  (use complete sentences)

Was your hypothesis correct?  Explain.

How do the number of calories you calculated compare with the number of calories found on the package?  If they are different, how do you explain that?  (in your explanation, you may want to explain how heat might have been lost in your experiment)

According the pkg., a walnut has 7 Calories per gram. That is the ‘accepted value’. Use the following formula to calculate your % of error.


Accepted value – your answer  X 100 = _____% error                                                                
  

accepted value
Compare your results with two other groups.  Do your results for each food item match?  If not, why? 

List the names of the people in your group:  _________________________  _________________________                                                                    






    _______________________  ________________________
